Lecture 14

Exercise 1: What links and switches would have to be used

for node 1 to communicate with node 67

endpoints, terminals,
nodes, switches subscribers
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transmission lines

Exercise 2: Find examples of communication networks other
than the PSTN or the Internet. Identify the endpoints, switch-

ing nodes and communication links.
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Exercise 3: Assuming each CO has 10,000 directly-connected
subscribers, how many CO's are required to service 3 million
subscribers? What is the aggregate data rate at each CO if
10% of users are active with a data rate of 128kb/s each? What
SONET rate (OC-n) would handle this data rate?
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Exercise 4: What connections could be made to connect line
1toline 47
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Exercise 5: What are the values of N, n and k in the diagram
above?
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Exercise 6: You want to design a 1000 x 1000 digital switch.
How fast must you write and read samples from memory as-

suming a sample rate of 8 kHz? How much buffer memory is
required?
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Exercise 7: What is the average call arrival rate?
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Exercise 8: A switch has_z_[} outgoing trunks available for 1200
users. Each users attemp_ts to make one call every two hours
and the average call timeis 1.2 minutes. What is the probability
that a call will be blocked? What if there were 2 trunks for 100
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